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Precalculus Math il
Review of Seq

LATIVE REVIEW Chapter:

and Radicals

1. a) i) Determine this sum:
—55—-24+15+5+ 85+ 12+ 155

ii) For the arithmetic series in part i, determine the value of ¢,.

b) i) Determine the sum of the first 16 terms of this arithmetic
series; 17 + 11 +5—1—=7 — 13 — ...

ii) For the series in part i, which term has the value —1212

2. Write the first 5 terms of each geometric sequence.

a) Bach term is a power of 3.

b) Bach term is a negative integer.
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3. From 2000 to 2008, the amount of electricity supplied by wind
energy in Canada increased by about 40% annually. Wind energy in
2008 produced enough electricity to supply about 716 000 homes.
To the nearest thousand, about how many homes might be supplied
by wind energy in 20187 Explain your reasoning and identify any
assumptions you made.

4. Tdentify whether each infinite geometric series CONVerges.
Determine the sum of each series that converges.

a) 0.7 — 0.07 + 0.007 — 0.0007 + ...
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5. Evaluate.

[(=2) — (=8)]

Vo + (<3l

b5 [15 — 25| — |95 + 72

6. Simplify each radical, and state the values of the variables for which
the radical is defined.

a) /63x’ b) J/—54y

7. Simplify.

a) 2n«/5m—nm—4n«/5n;+5nm,m > 0,nelR

b) 4/Vw? — 3V — 6V W + TV, v w > 0

8. Three squares, with areas shown below, have adjacent sides
touching. Determine the perimeter of the shape they form.

F E
H G| —

1 497
25x Y
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9. Simplify.

) (6 + V3)(a — 4/3) = V3(2 = V3)

b) (Jm + 34/n) — (24/m — 53/n)(2/m + 5¢/n)

15¢2 + 54/3 4f ~ 32
7 Vo 5f V2 + 27

10. Solve each equation. Verify the solution.

a) 4 — 5/6x = —5 — 4/6x b [+14:3[+1o

ANSWERS

1.a)i) 35 ii) 54 b)i) —448 i) 4, 3.20711000 4.a)0.63 b)—16
5.4) b)— 2 or -1t 6.a)3x/7xx 2 0 b) —3y232y,yeR

7.a) —2m/5m + 4nffim  b) —2rwyfv + 4w 8. 10(/x + 8y + 2842

310 + /15 . 134/14 — 43
9.2)24 — 44/3 b) —3m + 6/mn + 34n <) 5 &)

10.a) no solution b) 4

168 . Cumulative Review Chapters 1-2




SR ——

‘)(ECO\CU\U(% Moath 1\’
Review of Seqhences an

1. Multiple Choice What is the sum of the first 30 terms of this
arithmetic series?—5 —2 + 1 + 4 + ...

A. 1152 B. 1155 C. 1158 D. 1161

2. Multiple Choice What is the sum of the first 10 terms of this
geometric series? —12 800 + 6400 — 3200 + 1600 — ..

A. 8525 B. —8525 C.—8537.5 D.8537.5

3. a) Which sequence below appears to be arithmetic? Justify your
answer.

i) 4,—10, 16, —22,28,... ii)4,—10,—24,—38,-52,...

b) Assume that the sequence you identified in part a is arithmetic.

Determine:

i) arule for t, i) t,,

iii) the term that has value —332

80 Chapter 1: Sequences and Series
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4. For a geometric sequence, £, = —1000 and £, = 1; determine:

a) f, b) the term with value 0.0001

¥
1
I
&

5. a) For the infinite geometric series below, identify which series
converges and which series diverges. Justify your answer.

1) 100 — 150 + 225 — 337.5 + ...

i) 10 + 5 + 2.5 + 1.25 + ...

b) For which series in part a can you determine its sum? Explain
: why, then determine this sum.

©P DO NOT COPY.
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6. This sequence represents the approximate lengths in centimetres of
a spring that is stretched by loading it with from one to four 5-kg
masses: 50, 54, 58,62, ...

Suppose the pattern in the sequence continues, What will the length
of the spring be when it is loaded with ten 5-kg masses? Explain
how you found out.

7. As part of his exercise routine, Earl uses a program designed to help
him eventually do 100 consecutive push-ups. He started with 17
push-ups in week 1 and planned to increase the number of A
push-ups by 2 each week.

a) In which week does Earl expect to reach his goal?

b) What is the total number of push-ups he will have done when he
reaches his goal? Explain how you know.

ANSWERS

1.B 2.B 3.a)i) not arithmetic ii) arithmetic b)i)z, =4 — 14(n ~ 1)
ii) —220 iii) r,, 4.2) 1000000 b):, 5.a)i)diverges ii) converges b)20
6.86 cm 7.a)week 43 b) 2537
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Precalculus Math |

Radicals Review

1. Multiple Choice Which statement is false?
A x| = J)? forxeR

B.x=\/9? forx > 0
C. x| :\3/:? forxeR
D.x———f/; forx > 0

2. Multiple Choice Which is the correct simplification of A/12x"?
A.24/3x,%x = 0

B. 2x4/3%x, xeR
C.2x+/3%,x = 0
D.2|x|/3x, xe R

3. Simplify.
a) /72 — 542 + 3./8 b) (v/3 = V5)(+/3 + +/5)

¢) (24/6 + 3/5)? d)—ﬁ—%7g

4. Identify the values of the variable for which each radical is defined
where necessary, then simplify.

a) (Vx + 2)(vx — 3) b) 65/’ + 2a

162 Chapter 2: Absolute Value and Radicals
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8+/2 24/10 — /3

iz - o VTRV

5. Which equations have real roots? If the root is real, determine its
value. If the equation has no real roots, explain how you know.

a) V/2x + 3 =3 b)/5x — 1 =+2x +5

A)ABx+2+5=2 d)2/x —8=3Jx + 2

©P DO NOT COPY. Practice Test 163




6. To make a picture frame, a square with area 40 cm? is cut from a
square with area 90 cm®. Serena wants to put a thin gold ribbon
around the inside and outside edges of the frame. How much
ribbon does Serena need?

7. The formula t = @ gives the time, ¢ seconds, for an object at rest
to fall d metres. It took 2.5 s for a ball dropped from a roof to hit the
ground. To the nearest metre, from what height was the ball
dropped?

ANSWERS
V7 + 3

4
- 3 — 33
4da)x—+/x—6,x>0 b) 6lal + 2a,acR ¢) 86 + 85 d)z——;—0

5.a)x =3 blx=2 c¢)norealroots d)norealroots 6.20+/10cm 7.31m

1.C 2.C 3.a)7/2 b)—2 ¢ 69+ 12/30 d)

164 l Chapter 2: Absolute Value and Radicals
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Precalculus Math 1l
Trigono metry Review

1. Multible Choice The terminal arm of an angle 6 in standard
position is in Quadrant 4. Which statements are true?

I tan0 < 0 IL tan@ > 0 IIL sin@® < cos® IV.sin@ > cosf
AlandIII B.IlandIV C.H and ITI D. Il and IV

2. Multiplé Choice The telrminal arm of an angle 6 is in standard ‘ i
position, with sin 6 ="'§. Which statement could be true? T

2/6 V26

A.cos¢9=% B.cosB=T C.c;osB=T D.cos¢9=%

3. Point P(—2, 7) is on the terminal arm of an angle 6 in standard
position.

a) Determine sin 0, cos 6, and tan 6.

b) Determine the measure of 6 to the nearest degree.

- 4. Without using a calculator, determine the exact value of each
expression. L
a) (sin 45°)(cos 45°) b) L3
\ cos 60°

516 | Chapter 6: Trigonometry DO NOT COPY. ©P



<) (tan‘12Q°)(tan 210°) d) sin 330° + cos 120°

on are the following statements true?
arest degree for 0° < 6 < 360°.

b) cos 8 =%

5. For which angles in standard positi
Give the angle measures to the ne

. 1
a)sinfd =——+=
) V2

6. Solve each triangle. Give the angle measures to the nearest degree

and the side lengths to the nearest tenth of a unit. -
a) In AABC, AB = 20 m, /A =65°and £B = 40°

b> "L“Ak MN kMz=25Dm, MN= 24 bm , £K = F5°
C -Test %
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¢) In APQR, PQ = 15'.0 cm, PR = 11.0 cm, and QR = 10.5 cm

7. A cross-country runner runs due east for 6 km, then changes course
to E25°N and runs another 9 km. To the nearest tenth of a
kilometre, how far is the runner from her starting point?

oP % ©P DO NOT COPY. te . Practice Test | 519




| : 8. In parallelogram BCDE, BC = 10 cm, CD = 15 cm, and £B = 135°;
determine the lengths of the diagonals to the nearest tenth of a
centimetre.

ANSWERS

1.A 2.B 3.a)sinf = *7—, cosf = —L, tan@ = —3.5 b) 106°

V53 /53
4, a)% b)2 c¢)—-1 d)-1 5.a)225%315° b) 41°,319°
6.a) £ZC=75°BC = 18.8 m,AC = 133 m
b) ZN = 79° or 101°, ZM = 26° or 4°, KN == 11.2 mor 1.8 m
c) ZP = 44°, ZQ = 47°, /R = 88° 7.14.7 km 8.23.2cm, 10.6 cm

520 Chapter 6: Trigonometry : DO-NOT COPY. ©P
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| Review of Factom
‘ 4. Isx — 5 afactor of each trinomial? Justify your answer.
a) 3x* + 3x — 60 b) 3% — 13x — 10 f
2. Factor.
a) 0.5 — 0.4x — 1.2 b)3(x — 3)° + 2(x — 3) = 5
3. Factor.
a) 81x" — 4y
b) 49(x — 4)> — 9(5y — 2)* ‘
4. Solve by factoring. Verify the solutions.
a) 206" +3x—2=0 b)6x’ — 21lx + 18 = 0
i* “ | 242 Chapter 3: Solving Quadratic Equations . e




c) (x — 5)(x + 8) = 14

5. Two num
equation to determine

6. Solve each equation.

a) (2x + 1P +4=

7. Solve each equatio

a)x2+4x+2=0

bers have a sum of20and a

d) 65 = 8x

product of 84, Use a quadratic

the numbers.

49 b)—-3+(3——2x)2=5

completing the square.

nby
b)3x2~2x——1=0

Review
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8. Solve each quadratic equation.

)2 —6x+1=0 b) (x + 1)(x +2) = x

9. A truck was travelling at 23 m/s. It decelerated for 15 s. The distance

travelled by the truck, d metres, during this time is given by the
formula d = 23t — 0.6, where t is the time in seconds. How long
did it take the truck to travel 60 m? Give the answer to the nearest
tenth of a second.

Chapter 3: Solving Quadratic Equations




10. Without solving, determine whether each equation has one, two, or s
no real roots, g

a) 2x° — 1.8x — 1.25 = 0 b)-22+3x—-10=0

11. Consider the equation 8x” — 5x + k = g, _ A
Determine the values of k in each case:

a) The equation has no real roots,

b) The equation has exactly one real root,

¢) The equation has two real roots,

ANSWERS \:
La)no b)yes 2. a) 0.1(5x + 6)(x —2) b) (Bx — 4)(x — 4)
3.a) (9x — 2y)(9x + 2y) b) (7x — 15y — 22)(7x + 15y — 34)

—1 4 '34/5 3+ 242
m@—iib@g ©)-9,6 ma?&am aw~jr£jw~jﬁc

7.a) =2 & /2 b) ~%, 1 8.a) 3 'chﬁ b) norealroots 9,2.8¢
10.2) 2 b0 1Lak> 2 bk =2 k<2
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